AHTEE

Py Bk Th o Sk B XA SETRIE P F

luls
m"lp


90457
長方形


TH7 EEFFTOEMERFIEAMRETFE (515)

TH7 FEOMETLHEMERFNSAFETE (B15) F. RICEHDETAHITEL D,

(AR FHEHIE)

F1E& BEOBAREFEORIBIIRABREZINENS, 736 FHZEML. SAREZTNEL
12, 737 FHEEDH D,

2 BARLEFEOHEDTIEORSRUVEEZRANCLEDEENNICTHEROBEAREFEDEEE
X. IE 1% BAREFTEMIE] (TLD,

M7 8 A 29 8 i&EH

gk W WS M F



F1R BABRHFPEME

[ A (BfE - FM)
N 15 WO WIELE &t

5. 1@He 2.000 5 736 7.736

1. g% 2.000 5 736 7.736

& A & &t 7,001 5 736 12,737




3

% H (B FM)
£ 5 WO WIS 5t

4. KEEEE 4,838 3,000 7.838

1. KEEERE 4,838 3,000 7,838

6. FIBE 778 2,736 3,514

1. PRE 778 2,736 3,514

= & i 7,001 5,736 12,737




m A m % E P HE F 1B A KA B S

w1
B A (Bf1 . FM)
R HIERTDER fHIERE &t
b 1Rl 2,000 5, 136 1, 136
m A & § 1,001 5, 136 12,131




o

% us] (B : FH)
# IE %8 o B R W iR
= FHIERTODEE fHIE%E &t e iE Bt iR _ R
EEXHE h A & z O i -
4. KEEEE 4,838 3, 000 1,838 3,000
6. Pl 1178 2,136 3,514 2,736
% H 5 1,001 5, 7136 12,731 5, 136




2 & A

() 5. g% (&) 1. REE (AL F)
]
B MIERTODEE | 1E % & X 4 & @ &t BA
1. #REE 2,000 5,736 7,736 1. ##ss® 5, 736 |HT S
1,736 - 2,000 = 5,736
& 2, 000 5,736 1,736
BmAGE 1,001 5,736 12,737




1

3 B H
) 4 KEEEZ  (E) 1. KEEER (4 FR)
REB O EN R o
s = o & N
5 wEsoEE T o s i , ) 5 %
2 R | wrw | 2o | EHE| = # @
Tia i
. KEEEE 4 838 3,000 7,838 3,000(10. =A% 1, 000 [{&#2 %4
3,000 - 2,000 = 1,000
14 ITZEFEEE 2,000|/KETE
4 000 - 2,000 = 2,000
£t 4 838 3, 000 7,838 3, 000
S 6 PER  E) 1. FEE
. PlEE 778 2,736 3,514 2,736 FiEE
3,514 - 778 = 2,736
£t 778 2,736 3,514 2,736
mHEE 7, 001 5,736 12,737 5,736




